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2000 BAEEXIMI—K-2, 000A% 2500 = 24500 BEEXII—K 24, 500M% 25000 55
2500 BEEXTI—F-2, 500 % 3000 & 25000 BEEXTIM—F-25, 000H % 25500 55
3000 AEEXTII—K-3, 000A% 3500 = 25500 BEEXII—K-25, 500M% 26000 5=
3500 BEEXTJR—F-3, 500 % 4000 = 26000 BEEXTIM—F-26, 000H % 26500 5
4000 AEEXTII—K 4, 000A% 4500 = 26500 BEEXI+I—K-26, 500M% 27000 55
4500 BEEXTJR—F -4, 500 % 5000 & 27000 BEEXTI—F-27, 000H % 27500 55
5000 AEEXI+I—K-5, 000A% 5500 = 27500 BEEXIMI—K-27, 500 % 28000 55
5500 BEEXJRI—FK:5, 500 % 6000 = 28000 BEEXTJR—F-28, 000H % 28500
6000 AEEXI+I—K-6, 000A% 6500 = 28500 BAEEXIMI—K-28, 500 % 29000 55
6500 BEEXTJR—F6, 500 % 7000 /& 29000 BEEXTII—F-29, 000H % 29500 =
7000 AEEXTII—K-7, 000A% 7500 = 29500 BEEXII—K-29, 500M% 30000 5
7500 BEEXTIR—F-7, 500 % 8000 & 30000 BEEXTIMI—F-30, 000H % 30500 5
8000 AEEXTII—K-8, 000 % 8500 = 30500 BEEXTI—K-30, 500 % 31000 &
8500 BEEXTJR—F-8, 500 % 9000 = 31000 BEEXTIM—F-31, 000H % 31500 5
9000 AEEXII—K-9, 000 % 9500 = 31500 BEEXIMI—K-31, 500 % 32000 =
9500 BEEXTJR—F-9, 500 % 10000 32000 BEEXTI—F-32, 000H % 32500 5
10000 BEEXI—K-10, 000 % 10500 = 32500 BEEXIMI—K-32, 500 % 33000 5
10500 BAE&EXIrH—F-10, 500 % 11000 = 33000 BEEXTI—F-33, 000H % 33500 =
11000 BEEXII—K-11, 000A% 11500 = 33500 BEEXTI—K-33, 500 % 34000 55
11500 BE&EXIrH—F-11, 5005 12000 = 34000 BEEXTIM—F-34, 000H % 34500 g
12000 AEEXII—K-12, 000A% 12500 = 34500 BAEEXTI—K-34, 500 % 35000 5
12500 BEEXIr—F-12, 5005 13000 = 35000 BEEXTIM—F-35, 000H % 35500 =
13000 BEEXII—K-13, 000A% 13500 = 35500 BEEXI—K-35, 500 % 36000 5=
13500 AEEXIrH—F-13, 500H% 14000 & 36000 BEEXTIM—F-36, 000H % 36500 5
14000 BEEXII—K-14, 000A% 14500 = 36500 BEEXII—K-36, 500 % 37000 5=
14500 BEEXIrH—F-14, 5005 15000 37000 BEEXTI—F-37, 000H R 37500 55
15000 BAEEXI+I—K-15, 000M% 15500 = 37500 BEEXII—K-37, 500 % 38000 =
15500 AE&EXIrH—F-15, 500 % 16000 = 38000 BEEXIH—K-38, 000 % 38500 =
16000 BAEEXII—K-16, 0005 16500 = 38500 BAEEXI—K-38, 500 % 39000 5
16500 BEEXIrH—F-16, 5005 17000 = 39000 BEEXTJM—F-39, 000H % 39500 =
17000 BAEEXII—K-17, 000A% 17500 = 39500 BAEEXI—K-39, 500 % 40000 55
17500 AEEXIrH—F-17, 5005 18000 40000 AEEXTIHI—K-40, 000M % 40500 55
18000 BEEXI+—K-18, 000 % 18500 = 40500 BEEXTI—K-40, 500 % 41000 55
18500 RE&EXIrH—F-18, 5005 19000 41000 AEEXTIMI—K-41, 000M % 41500 55
19000 BEEXII—K-19, 000 % 19500 = 41500 BEEXTIMI—K-41, 500 % 42000 55
19500 AEEXIrI—F-19, 5005 20000 5 42000 BEEXTI—F-42, 000H % 42500 55
20000 BAEEXI+H—K-20, 000 % 20500 = 42500 BEEXIMI—K-42, 500 % 43000 55
20500 RE&EXIrH—F-20, 5005 21000 &= 43000 BEEXTI—F-43, 000H % 43500 55
21000 BEEXII—K-21, 000A% 21500 = 43500 BEEXIMI—K-43, 500 % 44000 55
21500 BEEXIM—F-21, 500A% 22000 = 44000 BHEEXIMI—FK-44, 000 % 44500 =
22000 BAEEXII—K-22, 000 % 22500 = 44500 BEEXTII—K-44, 500 % 45000 55
22500 BEEXIrH—F-22, 500 % 23000 5 45000 BEEXTIr—F-45, 000H % 45500 =
23000 AEEXI+—K-23, 000A% 23500 = 45500 BEEXIMI—K-45, 500 % 46000 5=
23500 REEXIrH—F-23, 500H% 24000 55 46000 AEEXTII—K-46, 000M %> 46500 55
24000 BEEXI—K-24, 000 % 24500 = 46500 BEEXIH—K-46, 500 % 47000 5=




Ema—k [EEEES WHERAU Y BEma—k G WHERA VY
47000 REEXIrH—F-47, 000H R 47500 = 74500 BEEXTJI—F-74, 5005 75000 £
47500 AEEXI+H—K-47, 500 % 48000 = 75000 AEEXIMI—K-75, 000M % 75500 £
48000 REEXI+H—F-48, 000H % 48500 = 75500 BEEXTJrN—FK-75, 500 % 76000 £
48500 BAEEXI+H—K-48, 500 % 49000 55 76000 AEEXI+I—K-76, 000M % 76500 £
49000 REEXIrH—F-49, 000H %R 49500 = 76500 BEEXTJrN—FK-76, 500 % 77000 £
49500 AEEXI+H—K-49, 500 % 50000 = 77000 AEEXI+I—K-77, 000M % 77500 B
50000 BE&EXI+H—F-50, 000H % 50500 77500 BEEXTJrI—FK-77, 5005 78000 =
50500 AEEXI+H—K-50, 500 % 51000 = 78000 BEEXJN—K-78, 000M% 78500 £
51000 BEEXIM—FK-51, 000 % 51500 s 78500 HEEXIMh—K-78, 500M% 79000 /=
51500 BE&#EXIMH—F-51, 500H% 52000 = 79000 BEEXJ—K-79, 000M% 79500 £
52000 AE&EXIrH—F-52, 000H % 52500 = 79500 BEEXTIr—FK-79, 500 % 80000 5
52500 AEEXI+I—K-52, 500 % 53000 = 80000 AEEXTH—K-80, 000M % 80500 55
53000 RE&EXIrH—F-53, 000A% 53500 80500 BEEXTJrN—F-80, 500 % 81000 f5
53500 BE&EXIhH—F-53, 500H% 54000 = 81000 BEE#EXTII—F-81, 000H % 81500 =
54000 REEXIrH—F-54, 000M % 54500 = 81500 BEEXTJrN—F-81, 500 % 82000 £5
54500 AEEXI+H—K-54, 500 % 55000 = 82000 AEEXI+I—K-82, 000M % 82500 55
55000 BE&EXJ+H—FK-55, 000H % 55500 s 82500 BEEXTJ—F-82, 500 % 83000 £5
55500 AEEXI+H—K-55, 500 % 56000 = 83000 BEEXJN—K-83, 000M% 83500 55
56000 BE&EXJ+H—F-56, 000M % 56500 £ 83500 BEEXTJN—F-83, 500 % 84000
56500 BE&#EXIhH—F-56, 500H% 57000 = 84000 BEEXJI—K-84, 000M% 84500 55
57000 BEEXIM—FK-57, 000 % 57500 = 84500 BHEEXIM—K-84, 500 % 85000
57500 BAEEXI+H—K-57, 500M% 58000 = 85000 AEEXI—K-85, 000M % 85500 5
58000 BE&EXI+H—FK-58, 000H % 58500 f 85500 HEEXIh—FK-85, 500M % 86000
58500 BE&#EXIMH—F-58, 500H% 59000 = 86000 BEE#EXTI—F-86, 000H A 86500 =
59000 BE&EXIMH—F-59, 000H % 59500 s 86500 HEEXIh—K-86, 500 % 87000
59500 AEEXI+H—K-59, 500 % 60000 = 87000 AEEXII—K-87, 000M % 87500 5
60000 BE&EXI+H—F-60, 000H 5 60500 = 87500 BEEXTJ—F-87, 500 % 88000 M=
60500 AEEXJ+H—K-60, 500 % 61000 = 88000 BEEXJ+N—K-88, 000M% 88500 55
61000 RE&EXJ+H—F-61, 000M%H 61500 5 88500 BEEXTJrN—F-88, 500 % 89000 =
61500 BE&EXIMI—F-61, 50005 62000 = 89000 BEEXJI—K-89, 000M%H 89500 5
62000 RE&EXJH—F-62, 000M % 62500 5 89500 BEEXTI—K-89, 500 % 90000 =
62500 AEEXI+H—K-62, 500M% 63000 = 90000 AEEXI—K-90, 000M % 90500 55
63000 RE&EXI+H—F-63, 000M% 63500 = 90500 BEEXTJRN—F-90, 500 % 91000 £5
63500 BE&EXIMI—F-63, 500H% 64000 = 91000 BEE#EXTI—F-91, 000HA 91500 =
64000 REEXI+H—F-64, 000H% 64500 = 91500 BEEXTJN—F-91, 500 % 92000 £S5
64500 BE&#EXIMI—F-64, 500H% 65000 = 92000 BEEXTI—F-92, 000H % 92500 =
65000 BE&EXJrH—F-65, 000M% 65500 92500 BEEXTJI—FK-92, 500 % 93000 £5
65500 AEEXI+H—K-65, 500 % 66000 = 93000 AEEXI+—K-93, 000M % 93500 55
66000 BE&EXJ+H—F-66, 000M % 66500 = 93500 BEEXTJ—FK-93, 500 % 94000 =
66500 AEEXI+H—K-66, 500M% 67000 = 94000 BEEXJ—K-94, 000A% 94500 55
67000 RE&EXJH—F-67, 000M R 67500 £S5 94500 BEEXTJrN—FK-94, 500 % 95000 =
67500 BE&EXIMI—F-67, 50005 68000 = 95000 BEEXJI—K-95, 000A% 95500 55
68000 AE&EXI+H—F-68, 000M% 68500 = 95500 BEEXTJrN—FK-95, 500 % 96000 £S5
68500 BE&#EXI+H—F-68, 5005 69000 = 96000 BEEXTI—F-96, 000H % 96500 =
69000 BE&EXI+I—F-69, 000H L 69500 s 96500 HEEXIMh—FK-96, 500M % 97000 =
69500 AEEXI+H—K-69, 500 % 70000 97000 AEEXT7—K-97, 000M % 97500 55
70000 RE&EXJ+H—FK-70, 000H %R 70500 /= 97500 BEEXTJr—FK-97, 500 % 98000 £5
70500 AEEXI+H—K-70, 500 % 71000 /= 98000 AEEXT—K-98, 000M % 98500 5
71000 BEEXIrH—F-71, 000H %R 71500 B 98500 BEEXTJrN—FK-98, 500 % 99000 =
71500 AEEXIH—K-71, 500 % 72000 /= 99000 BEEXJ—K-99, 000M% 99500 55
72000 BEEXJH—F-72, 000M % 72500 /= 99500 BHEEXIM—K-99, 500 % 100000 &
72500 BEEXIMI—F-72, 50005 73000 = 100000 | BEEXTI+A—K-100, 000H% 100500 =
73000 BE&EXJH—F-73, 000H % 73500 /= 200000 | BEEXTI+H—K-200, 000A% | 200500 &
73500 BAEEXI+H—K-73, 500M% 74000 /= 299500 | BEEXIFH—K-299, 500M% | 300000 &
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